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QUESTION 1

What is the missing number in the sequence? 4, 6, 10, 18, __, 66.
A.45

B. 34

C.54

D. 22

Correct Answer: B

QUESTION 2

Given that 6x = 7y, find the ratio x/y.
A. 6/7

B. 7/42

C. 42/6

D. 7/6

Correct Answer: D

QUESTION 3

The following items were purchased at the grocery store.

Item Cost Quantity
Milk $3.50/carton 2
Banana $0.30 each 5
Can of soup $1.25/can 3
Carrots $0.45 /stick 6

What was the average price paid for the items?
A. $0.34
B. $0.55

C. $0.93
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D. $1.38

Correct Answer: C

QUESTION 4

The price of a pencil box increased from $25 to $26.50. What is the percentage increase in the price?
A. 6%

B. 35%

C. 60%

D. 0.6%

Correct Answer: A

QUESTION 5

Given thata=4, b =-6 and c = 8, what is the value of (a + 2c)(b + 2¢)?
A. 200

B. 20

C. -200

D. -104

Correct Answer: A
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